3. Consider the polynomial function f(x) = x> + 18x2 + 10x + 1.
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Use a table of values to estimate the intercepts
and turning points of the function. Then graph
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How can you sketch a graph of the polynomial function f from a
verbal description?

e f(x) is positive on the intervals (—:x:, —4) and (—1, 4).
e f(x) is negative on the intervals (—4. —1) and (4, ar:).

e f(x) is decreasing on the intervals (—ac, —2.67) and (2, x).

e f(x) is increasing on the interval (—2.67, 2).
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Try It!

4. Use the information below to sketch a graph
of the polynomial function y = f(x).

e f(x) is positive on the intervals (—2. —1 ) and

(1. 2).

» f(x) is negative on the intervals (—x; —2), N /A

(=1.1),and (2. =). —r—A P ;
e f(x) is increasing on the intervals (— L, @

and (0. 1.5).

* f(x) is decreasing on the intervals (—1.5. 0) -2,71, H2

and (1.5, =). v == (002) 0 ) (%) (x-2)



26. Use the information below to sketch a graph of
the polynomial function y = f(x). SEE EXAMPLE 4

* f(x) i1s positive on the intervals (—oo, —3), (-2, 0),
and (2, 3).

¢ f(x) is negative on the intervals (-3, —2), (0, 2),
and (3, oo).

* f(x) i1s Increasing on the interval (-2.67, —1)
and (1, 2.5).

¢ f(x) is decreasing on the intervals (—oco, —2.67),
(-1, 1), and (2.5, o).



